1-3
Open Sentences




open sentence: mgth Gtatement
With one or more variables

k can be true or fule
deperding whdt yow plug in

S5+¥=¥%
2tuls 34



solution: Value, +hat Mmages R I |

True

equation: sentence with arn = Siah



Ex: Find the solution set for the
equation 6n + 7 = 37 if the
replacement setis {3,4,5,6, 7 }.

b5 +1=3T
- +7=37
{S+1=371 /
- o+1=37

b +7=37



Ex: Find the solution set for the
equation 5(x + 2) = 40 if the
replacement setis {3,4,5,6, 7 }.



Ex: Solve 13 +2(4) = p
3(5 - 4)




Ex: Solve 5(8 +2) =k
18 - (5 - 3)3

5(10)

=27 N

=0 _
g~ g - K



inequality: ogen senttnce using Il

L £ > >

J ) { —

X <L



Ex: Find the solution set for I |
18 - y@lﬂ If the replacement set
is {7,8,9, 10, 11, 12}.

18-7<10
(¥ <O
(8 -9 <10 v
18 -10 <D/
\§-11 <10V
8-12 <10V



Why did this type of problem have
more than one solution?



Ex: Find the solution set for
z+ 11 > 32 if the replacement set

iIs {20, 21, 22, 23, 24}.



No Homework! :)



